R U TR Listen to the text. For

statements (1-5) choose T if the statement is true
according to the text, Fif it is false.

T F

1 The speaker was hit by a car once. S
2 He thinks that English people

speak very fast. PE—
3 He faced an unexpected problem

with taking a shower. TP
4 He quite likes British food. T
One of his favourite dishes looks S —
unattractive, =
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TR S OEEDP Listen to the text.

For questions (1-5) choose the correct
answer (A, B or C).

1

What did Isaac Asimov say about education 30

years ago?

A It did not use technology in the best way.

B It was not varied enough to be interesting for all
students.

C There were not enough televisions or video
recorders.

Isaac Asimov predicted that access to computers

and the Internet in schools would __

A give students more free time to enjoy
themselves,

B make students more interested in school
subjects.

C allow students to explore their own interests.

Nikola mentions baseball statistics as an example

of —

A Asimov's varied interests,

B atopic that students might choose to explore
online.

C asubject that Asimov thought should be taught
in schools.

Why hasn't Asimov's vision come true so far?

A Many teachers don't know how to use
technology. .

B The right equipment has not been designed.

C The big change in education hasn't happened
yet.

What is Nikola's opinion about Asimov's
predictions?

A They will probably never be fulfilled.
B They will be fulfilled very soon.

C It may take a long time to fulfill them.
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QEEDP Listen to the speakers.
For questions (1-6) choose the correct answer

(A,BorC).

1 Which form of exercise does the speaker think is
best for general health?

-
A il

A

4 Which sport has the speaker recently become
interested in?
A women’s football B women’s rugby
C women'’s cricket

5 What type of injury is the woman waorried about?
A broken shoulder B twisted ankle
C head injury

6 Which type of racing does the man find the most
exciting?
A rowing B horse racing C car racing



